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CV—106—2018
FACULTY OF COMMERCE
B.Com. (First Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018

FUNDAMENTALS OF STATISTICS AND MATHS—I

(MCQ & Theory)

(Monday, 15-10-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— (1) Solve Question No. 1 on OMR sheet during the first half an hour.

(1) Question No. 1 and Question No. 2 are compulsory.

(111)  All questions carry equal marks.

(iv)  Simple calculator is allowed.
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“Statistics is the science of estimates and probabilities”. This definition

is given by :
(a)  Baudington (b)  Fisher
(0 Bowley (d)  Lovitt
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The data which have been already collected by another organisation

and are available in published form is known as :

(a)  Primary data (b) ~ Research data

(0 Aggregate data (d)  Secondary data

Stegl TN gHAT S Feh{erd Shetell ST YehTTeTd Teurd SueTes STd ol
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Mean of 22, 28, 25, 32, 13 1S .icccveeiviieiirnniannan.

(& 25 (b 24

(90 13 (@ 32

22, 28, 25, 32, 13 = T e e .
(@ %3 b 24

(0 13 (d 32

Which is the mode of the following ?
17, 13, 11, 20, 22, 11, 15, 11, 13

(a) 13 b 15
(0 11 (d 17
qEcush! yfases w2

17, 18, 11, 20, 22, 11, 15, 11, 13
(a) 13 b 15
(9 11 (d 17

Calculate range from the following ?

80, 60, 50, 90, 110, 150
(@ 80 (b 100
(0 50 (d 90
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Treiled Afgdrel ER R el ?
80, 60, 50, 90, 110, 150

(a 80 (b 100

(0 50 (d 90

Calculate mean deviation from the following data :
Xl fdal = 170, N = 40

(a9 4.25 (b) 425

(0 0.42 (d  4.75

Eeiiel Aifgdrean 3MER wed fogem war .

Xl fdal =170, N = 40
(a9 4.25 (b) 425
(o0 042 (d) 475
Which of the following is true ?
(a9  Range = S - L
(b) Quartile Deviation = Q3 + Q;

(0 Interquartile range = Q3 — Qq

A >
(d) Mean deviation = 242

n
el e DI ?

(a) fo&mm =S - L

(b~ =qUF foee = Qg + Q
(0  aEqe® @R = Q3 — Q4

(d) Mo faged = =2

n
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(vziii The income of person and the standard of living the correlation

IS tevrrreeee e

(a)  Negative (b)  Positive

) Zero (d)  None of these

&I'cl?ﬁ% Iq 3:|TFUT Il Wﬁ-‘:“:"?n a\—:ﬁ -q-l?ﬁa- mﬁa ...................... 3:|-|%»
(a) THREH (b) — HEREE

(o YA (d) TR RN

() The minimum and maximum values of coefficient of correlation are

(a -—-1to2 (b) 0 to+1
(0 0to—-1 (d —-1to+1
TEHaY U hHIG hHT S S SR Jod § 3T
(@ —1to?2 (b)  O0to+1
(0 0to-1 (d —-1to+1
(x be is called regression coefficient of :
(&  yon x (b) xony
(0 Both (a) and (b) (d) ~ None of these
by, SfAOTHT HEURTC UM
(&  yon x (b) xony
(0 Tl (a) @0 (b) (d) IRl THE TR
Theory
2. Calculate mean and median from the following data : 10
Marks No. of Students
0-5 04
5 — 10 02
10 — 15 08
15 — 20 12
20 — 25 10
25 — 30 03
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Wil Afgdia®e |71eg o HEIeh! &hlal

T faemeaift den
0-5 04
5—-10 02
10 — 15 08
15 — 20 12
20 — 25 10
25 - 30 03
3. Calculate the standard deviation and its coefficient from the following
data : 10
Class Frequency
0 - 30 09
30 — 60 17
60 — 90 43
90 - 120 82
120 — 150 81
150 — 180 44
180 — 210 34
Eeital Aifgdr=al MER ‘gAg-foeed’ sfor @men o Fel
i FRATRAT
0 - 30 09
30 — 60 17
60 — 90 43
90 — 120 82
120 - 150 81
150 — 180 44
180 — 210 34
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Or
(fenam)
From the following calculate mean deviation from mean :
Class Frequency
0 - 10 05
10 — 20 07
20 — 30 08
30 — 40 15
40 — 50 17
50 — 60 06
Eeitel Hifgdiered Hedai[d foagem e w1l :
il qRaTRar
0 - 10 05
10 — 20 07
20 — 30 08
30 — 40 15
40 — 50 17
50 - 60 06
4, Calculate the Karl Pearson’s coefficient of correlation from the following
data : 10
x y
50 11
50 13
55 14
60 16
65 16
65 15
65 15
60 14
60 13
50 13

Use ‘60’ and ‘14’ as assumed mean of ‘X and ‘y series.
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Tl Hifediaed shid fUeRe am=1 9g9dy U &el

&l
50

50
55
60
65
65
65
60
60
50

‘o' offor ‘9’ WIGHRIIGT STIHH 60 STV 14 TE WIS ST

Or
(fenam)
Given :
X
Mean 40
Standard Deviation 10

o between x and y = 0.9

9
11
13
14
16
16
15
15
14
13
13

Y
06

1.5

CV—106—2018

Find regression equation x on y and estimate the value of x when y is

10.
feot
X
e 40
9 fo=re 10

x 30y ¥l o 9 oF = 0.9

Y
06

1.5

AT HHIE x on y TR H&A x ° oI HEL y o oI 10 Kot o
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